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Fill in the blanks: The company’s profits were low and they were

forced to staff. B
a) Lisp off ‘ b) Lay off ‘ c)Lie on ‘ d) Lay on Lay off
Select the most appropriate synonym of the given word: Consolidation C
a)Disperse b) Fracture c¢)Amalgamat | d)Diminution | Amalgamatio
ion n
Which of the following is a conjunction?
A. With
B. Because D
C. Therefore
D. More than one of the above
a) B only | b) A & B both | ) A & Cboth | d) B only B only
Assertion (A): Vaccines prevent diseases. B
Reason (R): Vaccines must be given to children.
a) Both A and | b) BothAand R true | c)Ais truebut | d) A is false | Both A and R
R true and R | but R is not the | Ris false but R is true true but R is
is the correct | correct explanation not the
explanation of | of A correct
A explanation
of A
Choose the matching preposition to complete the sentences
A.According — the source 1. from
B. Different ---the first draft ii. to B
C.Based ----the information iii. of
D. Consisting ----- cards. 1v. on
a)A-i, B-ii, C- | b)A-ii, B-i, C-iv, D- | ¢)A-ii, B-iv, | d)A-iv, B-iii, | A-ii, B-i, C-
iii, D-iv iii C-i, D-iii C-ii, D-1 iv, D-iii
The quote “Give me blood, and I shall give you freedom!” was given b
by
a)Mahatma b)Subhash Chandra | ¢) Jawaharlal | d) Bhagat | Subhash
Gandhi Bose Nehru Singh Chandra Bose
Find the right matching pairs:
A. Mukna 1 Ball Game
B.Cricket i1 Racket sport a
C. Squash iii Wrestling
D. Swimming v Aerobic sport
a) A-iii, B-i, | b) A-iv, B-i, C-ii, D- | ¢) A-iii, B-ii, | d) A-iii, B-i, | A-iii, B-i, C-
C-ii, D-iv iii C-i, D-iv C-iv, D-ii ii, D-iv
Which of the following statement is/are True:
A. A design that is currently popular and widely accepted is called
Traditional.
B. A design that is currently popular and widely accepted is called
Vintage. d
C. A design that is currently popular and widely accepted is called
Western.
D. A design that is currently popular and widely accepted is called
Trendy.
a) A only \ b) Band C \ ¢)Cand D \ d) D only D only
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9 | There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below:
A: The largest monastery of India is located in the city of Tawang. ¢
B: Tawang shares the border with Meghalaya.
a)Both A and | b)Both A and B are | c)Ais truebut | d)A 1s false
B are true and | true but B is not the | B is false. but B is true.
B is  the | correct explanation Ais true but B
correct of A. is false.
explanation of
A.
10 | The instrument which is used for detecting electric current is b
a) Anemomet | b) Galvanometer c)Barometer | d)Hygrometer | Galvanometer
er
11 | Which of the following options would be TRUE if a mother is 4 times b
as old as her daughter and the father is 5 times as old as his daughter?
The sum of mother’s and father’s age is 135 years. What is the age of
the daughter?
A 25
B. 15
C. 20
D. 30
a) A:25 b) B:15 c) C:20 d) D:30 Answer b) B:
15
12 | If 12345671586 stands for TERMINATION, what does 671586 stand b
for?
a)NOTION b)NATION ¢)RATION d)MOTION Answer b)
NATION
13 | Match the following: a
A Independence Day i 26™ November
B Constitution Day ii 2" October
C International Day of Yoga iii 15" August
D Gandhi Jayanti iv 21 June
a) iii, 1, 1v, ii b) iv, ii, 1, iii c)iv, iii, 1,11 | d) 1, iii, iv, ii Answer a)
iii, 1, iv, ii
14 | For the given statement which of the following options is TRUE — “If b
B says that his mother is the only daughter of 4’s mother, how is 4
related to B?
a) Son b) Uncle c) Father d) Brother Answer b)
Uncle
15 | The median of the first 10 prime numbers is? b
a) 16.5 b) 12.0 c) 144 d) 14.0 Answer b)
12.0
16 | Which state has secured the first position at the Khelo India Youth b
Games 2023 in Chennai?
a)M.P b)Maharashtra c)Kolkata d)None Answer
b
Maharashtra




17 | Recently, Ahmed Awad bin Mubarak became the Prime Minister of c
which country?
a)lraq b) Jordan ¢)Yemen d)None Answer
¢) Yemen
18 | Which of the following statements is/are true for Nobel Prize? a
A: Nobel Prize award was first conferred in 1901.
B: Nobel Prize is given in the name of Alfrd Nobel who was a Swedish
inventor.
C: Nobel Prize is awarded yearly in the field of Physics, Chemistry,
Literature, Peace, Physiology or Medicine and Economics.
D: All the Nobel Prizes are awarded in Stockholm (Sweden), except,
for the Noble Peace Prize, which is awarded in Oslo (Norway).
a) All are|b) Only A, B & C |c) Only B, C | d) None of the Answer
correct are correct & D are | above are a)
correct correct All are
correct
19 | Consider the following: AarogyaSetu, CoOWIN, DigiLocker, DIKSHA d
Which of the above are built on top of open-source digital platforms?
a)AarogyaSet | b) CoWIN&DigiLo | ¢) Dikhsa d)All are Answer
u cker correct d)
All are
correct
20 | Match the following: a
A: Gir Forest National | i: Gujarat
Park
B:Purna Wildlife | ii: Gujarat & Maharashtra
Sanctuary
C: Jim Corbet National | 1ii: Uttarakhand
Park
D: Dachigam National | iv: J & K
Park
a) A-i; B-i1, C- | b) A-ii; B-ii1, C-1; | ¢) A-i; B-iii, | d) None of the Answer
iii; D-1v D-iv C-ii; D-iv above are | a)A-i; B-ii,
correct C-iit; D-1v
21 | According to the biomedical model of medicine, diseases either come d
from
a) Outside the | b) Invade the body | ¢) Originate | d) All are Answer
body and cause physical | as correct d) All are
changes within the | internal correct
body involuntary
physical
changes
22 | Within health psychology we have a literature on how men and women d
differ on factors such as
a) Coping | b) Body | ¢) Response | d) All are Answer
Styles Dissatisfaction to Stress correct d) All are
correct
23 | Which of the following statements is/are true? a

A: The philosophical question of how experience relates to the brain
is the mind—brain problem.




B: Dualism, holds that the mind is separate from the brain but
somehow controls the brain and therefore the rest of the body.

C: Monism, is the view that states that conscious experience is
inseparable from the physical brain.

D: All are correct.

a) All are b) Only A, B & C ¢) Only B, C | d) None of Answer
correct are correct & D are the above are a) All are
correct correct correct
24 | Determinism is the view that everything, including human behaviour a
has a
a) Physical b) Physiological c) d) None Answer
cause cause Sociological a) Physical
cause cause
25 | Match the first column with second column: a
A: Positive Psychology | i: Studies the predispositions and
experiences that make people happy,
productive, and successful.
B: Applied Research ii: Deals with practical problems, such as
how to help children with learning
disabilities.
C: Basic Research iii: Seeks theoretical knowledge for its
own sake, such as understanding the
processes of learning and memory.
D: Comparative | iv: Specialists who compare different
Psychologists animal species.
a) A-i; B-i1, C- | b) A-ii; B-ii1, C-1; | ¢) A-i; B-iii, | d) None of the Answer
iii; D-1v D-iv C-ii; D-iv above are | a)A-i; B-ii,
correct C-ii1; D-1v
26 is a condition in which a stimulus of one type, such b
as sound,
also elicits another experience, such as color.
a) b) Synesthesia c) d) None Answer
Olfactothesia Agorathesia b)
Synesthesia
27 | Which of the following statements is/are true? a
A: Subliminal perception is the phenomenon that a stimulus can
influence behavior even when it is presented so faintly or briefly that
the observer has no conscious perception of it.
B: Subliminal perception effects emerge only as small changes in
average performance, ordinarily in measurements taken shortly after
the subliminal
stimulus.
C: Subliminal messages do produce effects, although most are brief or
subtle.
D: Subliminal perception demonstrates the possibility of unconscious
influences.
a) All are| b)OnlyA,B& C |c) Only B, C | d) None of the Answer
correct are correct & D are | above are a) All are
correct correct correct
28 defined as the intensity at which a given individual b

detects a stimulus 50 percent of the time.

5




a) Threshold | b) Absolute Sensory | ¢) Both a & b | d) None Answer
Threshold are correct b) Absolute
Sensory
Threshold
29 | What is the emphasis of Gestalt psychology with regard to vision? a
a) Top-down | b) Bottom-up c) d) Answer
processes are | processes are Mechanisms | Mechanisms a) Top-down
important for | important for of vision of vision processes are
perception. perception. differ from remains important for
one animal unchanged perception.
species from one
to another. animal
species
to another.
30 | Of the various cues to distance, which ones are binocular cues? b
a) Object size | b) Retinal disparity | ¢) d) Answer
and linear | and convergence Interposition | Accommodati b) Retinal
perspective and  texture | on and motion | disparity and
gradient parallax convergence
31 | Choose the correct response: b
A- Assertion: Health psychology suggests that human beings should
be seen as
complex systems.
B- Justification: Illness is caused by a multitude of factors and not by
a single causal factor.
a) Both A& B | b) BothA & Bare |c)Aiscorrect | None of the b) Both A &
is correct & B | correct but B is not | but B is above B are correct
is the correct | the correct incorrect but B is not
justification. | justification of A the correct
justification
of A
32 | Theoretically, which of the following drugs should produce effects b
similar to those of fetal alcohol syndrome, if a mother takes them
during pregnancy?
a) Cocaine b) Anti-anxiety ¢) Nicotine d) Caffeine b) Anti-
(which drugs (which (which (which anxiety drugs
increases increase activity at | stimulates increases (which
activity at inhibitory acetylcholine | heart rate) increase
dopamine synapses) synapses) activity at
synapses) inhibitory
synapses)
33 | One year ago, Sarah did not seem to understand conservation of a
number, volume, or mass. Today she does. According to Piaget, Sarah
has progressed from which stage to which other stage?
a) b) Sensorimotor | ¢) Concrete | d) Formal a)
Preoperationa | stage to | operations operations Preoperationa
1 stage to | preoperational stage | stage to | stage to | stage to
concrete formal concrete concrete




operations operations operations operations
stage stage stage stage
34 | Which of the following statements is/are true? a
A: Authoritative parents set high standards and impose controls, but
they are also warm and responsive to the child’s communications.
B: Authoritarian parents set firm controls, but they tend to be
emotionally more distant from the child.
C: Permissive parents are warm and loving but undemanding.
D:Indifferent or uninvolved parents spend little time with their
children and do little more than provide them with food and shelter.
a) All are|b) Only A, B & C |c) Only B, C | d) None of the a) All are
correct are correct & D are | above are correct
correct correct
35 | If we want to determine whether children resemble their parents b
because of genetic influences or because of social influences, which
of the following would be the most easy and helpful kind of
information?
a) Compare | b) Examine the|c) Compare | d) Conduct an
monozygotic | amount of similarity | children’s experiment to | b) Examine
and dizygotic | between adopting similarity to | determine the amount of
twins. parents and their | their mother | genetic similarity
adopted children. and their | makeup. between
father. adopting
parents  and
their adopted
children.
36 | One explanation for adolescent impulsivity is that the prefrontal b
cortex, important for inhibiting inappropriate behaviors, is still
gradually becoming mature during this period. What evidence
indicates that this explanation cannot be the full answer?
a) People with | b) Twenty-year-olds | ¢) Most | d)
damage to the | rate many risky | teenagers Adolescents b) Twenty-
prefrontal activities more believe  the | make the | year-olds rate
cortex tend to | acceptable than | “personal same many  risky
make young teenagers do. | fable”  that | decisions activities
many  poor they are regardless of | more
and impulsive different from | peer acceptable
decisions. everyone pressure. than young
else. teenagers do.
37 | Match the first column with second column: b

A: Learning curve
B: Reinforcement

1: decreases the probability of a response.
ii: is a graph of the changes in behavior
that occur over the course of learning.




C: Punishment

1ii: is the process of increasing the future
probability of the most recent response.

D: Extinction

iv: occurs if responses stop producing

reinforcements.
c) A-i; B-iii, | b) A-ii; B-iii, C-i; | c¢) A-iii; B-ii, | d) None of the | b) A-ii; B-iii,
C-ii; D-1v D-iv C-1; D-1v above are C-1; D-1v
correct
38 | Which of the following would be evidence in favor of Vygotsky’s b
“zone of proximal development”?
a) Most 3-|b) It is possible to | ¢) Children in | d) Intellectual
year-olds can | teach conservation | the stage of | development |b) It s
observe a toy | of volume to many | concrete varies  from | possible  to
hidden in a | 6-year-olds but not | operations one culture to | teach
small  room | many 4-year-olds. | have trouble | another. conservation
and use it to with abstract of volume to
locate a larger or many
toy in a larger hypothetical 6-year-olds
room, ideas. but not many
but 2)s-year- 4-year-olds.
olds cannot.
39 | Choose the correct response: b
A- Assertion: Reading or hearing a word temporarily results in priming
that word and increasing the chance that you will use it yourself, even
if you are not aware of the influence
B- Justification: Such phenomenon works better if you listen to spoken
words than if you read them.
a) BothA& B | b) Both A & B are | ¢c) Ais correct | None of the | b)BothA &
is correct & B | correct but Bis not | but B is | above B are correct
is the correct | the correct | incorrect but B is not
justification. | justification of A the correct
justification
of A
40 | At the start of training, the CS elicits __ and the UCS elicits . c
After repetitions of the CS followed by the UCS, the CS elicits
and the UCS elicits .
a)CR...CR|b)CR...UCR ... |¢) no | d) UCS . . .
...UCR...|CR...UCR response . . . | UCR...UCR ¢) no
UCR UCR...CR.|...CR response . . .
.. UCR UCR...CR.
.. UCR
41 | In a study examining the relationship between sleep quality and c
academic performance among college students, a Pearson correlation
coefficient of -0.60 was found between the two variables. What does
this correlation coefficient value indicate?
a) There is a | b) There is a weak | ¢) There is a | d) There is no Answer
strong positive strong relationship c) There is a
positive relationship negative between sleep strong
relationship between sleep | relationship quality and negative
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between sleep | quality and | between sleep | academic relationship
quality  and | academic quality and | performance. | between sleep
academic performance. academic quality and
performance. performance. academic
performance.
42 | A researcher conducts a study to investigate the relationship between a
caffeine consumption and anxiety levels. After analyzing the data, the
researcher finds a Pearson correlation coefficient of +0.70 between the
two variables. What does this correlation coefficient value indicate?
a) There is a | b) There is a weak | ¢) There is a | d) There is no | Answer a)
strong positive strong relationship There is a
positive relationship negative between strong
relationship between  caffeine | relationship caffeine positive
between consumption  and | between consumption relationship
caffeine anxiety levels. caffeine and anxiety between
consumption consumption | levels. caffeine
and anxiety and anxiety consumption
levels. levels. and anxiety
levels.
43 | In a psychological experiment investigating the effectiveness of a new c
therapeutic intervention for reducing symptoms of depression,
participants were randomly assigned to either the treatment group or
the control group. Which statistical test would be most appropriate for
analyzing the data to determine if there is a significant difference in
depression scores between the two groups?
a) Chi-square | b) Paired Samples | ¢) d) Analysis of | Answer c¢)
test t-Test Independent | variance Independent
Samples  t- | (ANOVA) Samples t-
Test Test
44 | In statistical hypothesis testing, what does the Fisher value (F-value) c
represent in the context of analysis of variance (ANOVA)?
a) The | b) The critical value | ¢) The ratio of | d) The level of | Answer c)
probability of | used to determine | the variance | confidence The ratio of
making a | statistical between associated the variance
Type L error. | significance. groups to the | with the test between
variance statistic. groups to the
within variance
groups. within
groups.
45 | Which of the following statements regarding the median is true? d
a) The median | b) The median is the | c) The | d) The median Answer
is influenced | arithmetic average | median is the | divides  the d) The
by extreme | of all values in the | most dataset  into median
values in the | dataset. frequently two equal | divides the
dataset. occurring halves when | dataset into
value in the | arranged in| two equal
dataset ascending halves when
order. arranged in
ascending
order.
46 | There are two statements marked as Assertion (A) and Justification a

(B). Read them and answer as per the codes provided below:
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Correlation coefficients range from:

A:r=-1tor=

+1

B: Correlation coefficient (r) indicates the strength of relationship
between two variables

a)Both A and
B are true and
B is the
correct

explanation of
A

b) Both A and B are
true but B is not the

correct explanation
of A.

c) A is true
but B is false.

d) A is false
but B is true.

a) Both A and
B are true and
B is the
correct

explanation of
A.

In the Mann-W

47 hitney U test, the null hypothesis states that: a
a) There isno | b) There 1is a|c) The | d) The Answ
difference significant variances of | samples are er
between the | difference between | the two | drawn  from | a) There is no
means of the | the means of the | groups  are | populations difference
two groups. two groups equal. with the same | between the
distribution. means of the
two groups.
48 | Which of the following statistical methods is TRUE for a parametric a
statistics?

a) Gaussian | b) Positive c) Negative | d) Skewness Answer
distributio skewness in a skewness has no | a) Gaussian
ns are Gaussian n a meaningf | distributions
always distribution Gaussian ul are always
perfectly indicates  that distributio interpretat perfectly
symmetric the tail is longer n ion in | symmetric
with zero on the left side. indicates Gaussian with zero
skewness. that  the distributio skewness.

tail is ns.
longer on
the right
side.
49 | Research shows that the older a person, the larger their vocabulary. a
This is an example of a positive correlation. This statement is:
a) True b) False c) An | d) An | Answer a)
example of | example of True
Negative partial
correlation correlation
50 | In a complex research design, a researcher intends to investigate the a
impact of three independent variables (IV1, IV2, and IV3) on a single

dependent variable (DV), while also considering the moderating effect

of a fourth variable (Mod). Which of the following designs would best

suit this scenario?

a) Factorial | b) Longitudinal | ¢) Cross- | d)Quasi- Answer a)

design design sectional experimental Factorial

design design design
51 | Relativity of crime signifies d

a) Basic | b) A general | ¢) An | d) The Answer

beliefs or | framework or | approach to | variation in
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values, orientation, the study of | the d) The
usually including some | phenomenon | conception of | variation in
formed early | basic that what behavior | the
in life, and assumptions, on | incorporates | is criminal conception of
through which | which theories are | both theory | from one | what behavior
people filter | based and time, place, or | is criminal
information observation context to from one
another time, place,
or context to
another
52 | The unlawful killing of a human being by another human being with a
malice aforethought is often defined as
a)Murder ‘ b) Robbery ‘ c) Assault ‘ d) None a)Murder
53 | Which of the following are True or False statements?
A: Felonies are the most serious offenses, punishable by execution or
by imprisonment for one year or more.
B: Misdemeanors may be subject to incarceration in jail for a period
of up to 11 months and 29 days. d
C: Under criminal law, there is no crime unless the conduct prohibited
or required is enunciated in the federal or state criminal code in clear
and precise language.
D: Crimes may be acts of commission or acts of omission.
a) Only A is [ b)Only Biscorrect | ¢c) Only C & | d) All are Answer
correct D is correct correct d) All are
correct
54 | Given below are two statements, one is labeled as Assertion (A), and
the other is labeled as Reason (R). Consider them and select the correct
code in the context of ethics
A:The committee has the authority to dispose of the cases for the
care, protection, treatment, development, and rehabilitation of b
children in need of care and protection, as well as to provide for
their basic needs and protection.
B:“Committee” means Child Welfare Committee constituted under
section 27 of the Juvenile Justice (Care and Protection of Children)
Act.
a)(A) is | b)Both (A) and (R) | c)(A) is | d)Both  (A) Answer
correct, but | are correct wrong, but |and (R) are | b)Both(A)
(R) is wrong. (R) is correct. | wrong. and (R) are
correct
55 | Match the columns first and second and choose the correct answer
from the codes given below:
A: Instigation to commit an | i: Criminal conspiracy
offence
B: Grave and sudden | ii: Necessity a
provocation
C: Agreement to commit an | iii: Cheating
offence

D: Acts done without intention not

to prevent others from cheating

iv:Culpable  homicide
amounting to murder
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a) b) c) d) Answer
A-ii A-ii A-iii A-iv a)
B-iv B-iii B-iv B-ii A-ii
C-i C-iv C-ii C-i B-iv
D-iii D-i D-i D-iii C-i
D-iii
56 | The unlawful offer or attempt to injure another, with an apparent
present ability to effectuate the attempt under circumstances creating d
a fear of imminent peril is often called
a)Murder b)Robbery c) Rape d)Assault Answer
d)Assault
57 | Which of the following statements are True or False statements?
A: Deterrence is defined as the prevention of crime by instilling a fear
of punishment in potential offenders.
B: Incapacitation signifies the prevention of crime by physically
eliminating the capacity for crime, usually through imprisonment. c
C: Rehabilitation means preventing additional criminal acts by
offenders through the elimination of their motives to offend.
D: Retribution means punishment of offenders because they deserve it
as a consequence of their law violations.
a)OnlyA& B | b) Only C & D are | ¢c) All of the | d) None of the Answer
are correct correct above statements are | c¢) All of the
statements correct above
are correct statements are
correct
58 | What is the full form of NCRB? d
a)National b)National  Credit | c)National d)National Answer
Core Records | Records Bureau Criminal Crime d)National
Bureau Record Records Crime
Bureau Bureau Records
Bureau
59 | Consider here for matching pairs:
A: Social disorganization | i: Focuses on the urban conditions that
theory affect
crime rates.
B: Cultural deviance | ii: Because of strain and social
theory isolation, a unique lower-class culture
develops in disorganized a
neighborhoods.

1ii: Crime is a function of the conflict
between people’s goals

and the means they can use to obtain
them.

iv: Insists that crime is calculated and
deliberate.

C: Strain theory

D: Rational choice theory
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a) b) c) d) Answer
A-i A-ii A-iii A-iv a)
B-ii B-iii B-iv B-ii A-i
C-iii C-iv C-ii C-i B-ii
D-iv D-i D-i D-iii C-iii
D-iv
60 | The statement that best describes the correlation analysis is c
a)A measure | b)A measure of | c)A measure | d) None Answer
of causation X | causation between | of association ¢)A measure
andY XandY between two of association
characteristic between two
S characteristic
S
61 | The “dialectic” method of Socrates and Plato was essentially a method d
of....
a) Discussion | b) The participants | ¢) It consisted | d) All of the Answer
and debate progressed  from | of reasoning | above are | d)All of the
one point to another, | through correct above are
each one disputing | rigorous correct
the point of the | dialogue as a
other until they | method  of
could reach an | intellectual
undisputable point | investigation
intended  to
expose false
beliefs  and
elicit truth.
62 | The philosophical statement, 'existence precedes essence' was made a
by
a) Jean-Paul b) Descartes c) John | d) None a) Jean-Paul
Sartre Dewey Sartre
63 | Which of the following are True or False statements?
A: Towards the end of the patristic period, Augustine tried to answer
the problem of certainty with his restorative method.
B: He held that the skeptics are mistaken in assuming that certainty of
knowledge is impossible and that humans can achieve only “probable d
knowledge”.
C: “Probable Knowledge” are ideas whose validity is highly probable.
D: The assumption of probably valid truths presupposes the
existence and attainability of absolute truths.
a) Only A is | b)OnlyBiscorrect | c) Only C & | d) All are Answer
correct D is correct correct d) All are
correct
64 | Given below are two statements, one is labeled as Assertion (A), and
the other is labeled as Reason (R). Consider them and select the correct a

code in the context of ethics

A: Ethics is the philosophical treatise.
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B: It studies human behaviour and tries to determine what is right or
wrong behaviour.

a) Both A and | b) BothAandRare | c) A is true | d) A is false Answer
R are true and | true but R is NOT | but R is false | but Ristrue | a) Both A and
R is  the | the correct R are true and
correct explanation of A R is the
explanation of correct
A explanation
of A
65 | Match the columns first and second and choose the correct answer
from the codes given below:
A: Plato i: The Golden Verses
B: Aristotle ii: Apology a
C: Parmanides iii: On nature
D: Pythagoras iv: De anima
a) b) C) d) Answer
A-i A-ii A-iii A-iv a) A-i
B-iv B-iii B-iv B-ii B-iv
C-iii C-iv C-ii C-i C-iii
D-ii D-i D-i D-iii D-ii
66 | The Direct knowledge of the thoughts of others, according to Jain d
Philosophy is:
a)Avadhi b)Mati c¢) Rati d)Manahpary Answer
aya d)Manahpary
aya
67 | Which of the following statements are True or False statements?
A: According to Kant, Moral Laws areapriori based on reason.
B: Aristotle identified three types of Justice — Distributive, Retributive,
and Commutative.
C: According to Gandhi, man’s ultimate aim is the realization of God c
and it means the realization of one's self.
D: Indian epistemology accepts six means of knowledge (pramanas):
perception, inference, verbal testimony, comparison, presumption, and
non-cognition.
a)OnlyA& B | b) Only C & D are | c) All of the | d) None of the Answer
are correct correct above statements are | c¢) All of the
statements correct above
are correct statements are
correct
68 | What are the trinity principles advocated by Dr. B. R. Ambedkar? d
a)Non- b)Non-violence, c)Revolution, | d)Liberty, Answer
Cooperation, | Truth and Peace Historical Equality and | d)Liberty,
Non-stealing Materialism | Fraternity Equality and
and Non- and Fraternity
equalization
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Dialectical
materialism

69 | Type Questions here for matching pairs:
A: Radical Feminism i: A Woman is not born but
made.
B: Liberal Feminism ii: Both Men and Women are
essentially rational creatures. 4
C: Socialist Feminism iii: Men and Women should be
treated equally.
D: Marxist Feminism iv: Both Men and Women are
essentially rational creatures.
a) b) C) d) Answer
A-i A-ii A-iii A-iv a)
B-ii B-iii B-iv B-ii A-i
C-iii C-iv C-ii C-i B-ii
D-iv D-i D-i D-iii C-iii
D-iv
70 | The basis of the division of four types of varna according to the Gita .
is:
a)Karma only | b)Guna only c)Both guna | d) None Answer
and karma ¢)Both guna
and karma
71 | Which one is a method of vegetative propagation d
a) Fission | b)Fragmentation | ¢) Budding [ d) Grafting Grafting
72 | Find the right matching pairs:
A.Shark 1Amphibian
B.Frog i1 Arthropod a
C. Cockroach iiiCartilaginous fish
D. Whale ivMammal
a) A-iii, B-i, | b) A-iv, B-i, C-ii, D- | ¢) A-iii, B-ii, | d) A-iii, B-i, | A-iii, B-i, C-
C-ii, D-iv i C-i, D-iv C-iv, D-ii ii, D-iv
73 | Which of the following statement is/are True:
A. The arm of a human, wing of a bird is a homologous organ.
B. The arm of a human, tail of a dog is a homologous organ. a
C. Leg of a dog, leg of an insect is a homologous organ.
D. Wing of a bat, flipper of a whale is a homologous organ.
a) Aand D ‘ b) B only ‘ ¢)Cand D ‘ d) D only Aand D
74 | There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below:
A: Chickenpox has not been eradicated. ¢
B: Smallpox also has not been eradicated.
a)Both A and | b)Both A and B are | c)Ais true but | d)A is false
B are true and | true but B is not the | B is false. but B is true. | Ais true but B
B is  the | correct explanation is false.
correct of A.
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explanation of

A.
75 | The semicircular canals of human ear are involved in c
a)Smell \ b) Hearing \ c¢) Balance \ d) Pain Balance
76 | An ecosystem consist of d
a) Only plants | b) Both plants and | ¢) Both soil | d)Both living | Both  living
animals and water organisms and | organisms
their physical | and their
environment | physical
environment
77 | Find the matching pairs:
A. Rhizobium iBaking of bread
B.Yeast i1 Setting of curd a
C. Lactobacillus iiiFixing nitrogen
D. Moulds ivPathological fungi
a) A-iii, B-i, | b) A-iv, B-i, C-ii, D- | ¢) A-iii, B-ii, | d) A-iii, B-i, | A-iii, B-i, C-
C-ii, D-iv iii C-i, D-iv C-iv, D-ii ii, D-iv
78 | Which of the following statement is/are True:
A. In an ecosystem, the role of decomposers is breaking down dead
organic matter.
B. In an ecosystem, the role of decomposers is absorption of solar a
energy.
C. In an ecosystem, the role of decomposers is absorption of wind
energy.
D. In an ecosystem, the role of decomposers is photosynthesis.
a) A only b) Band C c)Cand D d) D only A only
79 | There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below:
A: Influenza is a viral disease. ¢
B: Parkinson’s disease is a viral disease.
a)Both A and | b) BothAand Bare |c) A is true | d) A is false
B are true and | true but B is not the | but B is false. | but B is true.
B is  the | correct explanation Ais true but B
correct of A. is false.
explanation of
A.
80 | The transfer of pollen from the anther to stigma is called c
a)Adoption \ b)Fertilization \ ¢) Pollination \ d) Diffusion | Pollination
81 | What causes population explosion? d
a) High | b) High mortality ¢) Low birth | d) High Birth | High Birth
comorbid rate rate rate
diseases
82 | Find the right matching pairs:
a

A.Stereotypes 1 Social hierarchy
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ii Pluralisticnature
iii Prejudice

B.Caste system
C. Indian society

D. Agrarian iv Agriculture based

a) A-iii, B-i, | b) A-iv, B-i, C-ii, D- | ¢) A-iii, B-ii, | d) A-iii, B-i, | A-iii, B-i, C-

C-ii, D-iv il C-i, D-iv C-iv, D-ii i1, D-iv
83 | Which of the following statement is/are True:

A. Number of women in child bearing age is related to the

calculation of fertility rate of a state.

B. Mortality rate is the ratio of the number of deaths in the year to the

average total population of the year. a

C. Sex ratiois related to the calculation of fertility rate of a state.

D. Number of old aged womenis related to the calculation of fertility

rate of a state.

a) Aand B ‘b)BandD ‘c)CandD ‘d)Donly Aand B

84 | There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below:

A: Matrilocal family is present in Khasis. c

B: In Matrilocal family, the couple lives with or near the husband's

family of origin.

a)Both A and | b)Both A and Bare | c)Ais true but | d)A is false

B are true and | true but B is not the | B is false. but B is true.

B is  the | correct explanation Ais true but B
correct of A. is false.
explanation of

A.

85 | Which one is an objective of Van Panchayat? c
a)lncrease b)Increase c)Prevent d)Increase Prevent
hunting industrialization deforestation | members in | deforestation

Panchayat

86 | When does conflict become dysfunctional? d
a) Whenitisa | b) When it gives a | ¢) When it | d)When it | When it
medium  of | chance of self- | gives a | reducesthe reduces  the
releasing reflection chance to | group group
tension change cohesion cohesion

87 | Find the matching pairs:

A. Peacekeeping 1 Forgiveness

B.Reconciliation it Dialogue a

C. Negotiation iii Security

D. Conflict iv Dispute
a) A-iii, B-i, | b) A-iv, B-i, C-ii, D- | ¢) A-iii, B-ii, | d) A-iii, B-i, | A-iii, B-i, C-
C-ii, D-iv i C-i, D-iv C-iv, D-ii i1, D-iv

88 | Which of the following statement is/are True:

A. Conflict management is a technique to resolve disputes amicably a

and effectively.
B. Conflict management is a technique to aggravate workplace
tension.
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C. Conflict management is a technique to entirely eliminate any
conflict.

D. Conflict management is a technique topromote ineffective
communication.

a) A only b) Band C c)Cand D d) D only A only
89 | There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below:
A: A potential source of conflict in a workplace is lack of c
communication.
B: Lack of communication is a technique of effective conflict
management.
a)Both A and | b) BothAandBare |c) A is true | d) A is false
B are true and | true but B is not the | but B is false. | but B is true.
B is  the | correct explanation Ais true but B
correct of A. is false.
explanation of
A.
90 | Diana wants to buy a flat but worries about the high maintenance. c
This type of conflict is
a)Approach- | b)Avoidance- c)Approach- | d) None of the | Approach-
approach Avoidance Avoidance above Avoidance
91 is the first settlement in U.K. which is associated with group C
work.
a) Charity | b)  Neighborhood | ¢)  Toynbee | d) Hull house
organization | guild Hall Toynbee Hall
society
92 | Which of the following is an antisocial element? D
a)Clique b) Crowd ¢) Organized | d) Gang Gang
group
93 | Which of the following were the first international treaty having
significant portents for International Human Rights Law?
A. Congress of Vienna
B. Geneva Convention C
C. League of Nations
D. Treaty of Westphalia
a) A& B Only | b) C & D only | ¢) D only | d) A only D only
94 | Assertion (A): Govt. of India has started the process of initiating
foreign exchange reforms. A
Reason (B): The rupee is devalued against the foreign currency
a) Both A and | b) BothAand R true | c)Ais truebut | d) A is false | Both Aand R
R true and R [ but R is not the | R is false but R is true true and R is
is the correct | correct explanation the correct
explanation of | of A explanation
A of A
95 | Match the person with their work area:
A. M.N. Srinivas i. Caste system of India B

B. D.P. Mukherjee

ii. Caste and caste system

C. Andre Beteille

iii. Indian society, art, and culture
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D. Y.B. Damle

1v. Social differentiation and Indian

village
a)A-1, B-ii,C- | b) A-ii, B-iii, C-i, | c) A-iv, B-iii, | d) A-i, B-iii, | A-ii, B-iii, C-
iii, D-iv D-iv C-ii, D-i C-ii, D-iv i, D-iv
96 | The two main forms of social stratification are C
a) Class and | b) Society and |c) Caste and | d) Family and Caste and
Estate Community Class Kinship Class
97 | Public Interest Litigation (PIL) was initiated in 1983 with the
pioneering efforts of
A. Justice R.N. Mishra
B. Justice Chandrachud D
C. Justice P.N. Bhagawati
D. Justice Venkatswami
a) A& Bonly | b) B & C only | ¢) C & D only | d) C only C only
98 | Which of the following is not what is understood by rural D
development?
a) it is the|b) it is the|c) it is the | d) All of the
development | improvement in | economic and | above
of rural | economic facilities | sociological
facilities and infrastructure improvement All of the
of the rural
. above
population to
increase the
standard  of
living
99 | Match the following pairs:
A. Capitalist Economy 1. China C
B. Socialistic Economy ii. USA
C. Mixed Economy iii. Canada
D. Globalistic Economy 1v. India
a)A-1, B-ii, C- | b) A-iv, B-iii, C-ii, | ¢) A-ii, B-I, | d) A-iii, B-I, | A-ii, B-I, C-
iii, D-iv D-i C-iv, D-iii C-iv, D-ii iv, D-iii
10 | Which of the following are important for the development of rural A
0 | areas in India?
a) Social | b) Cottage | c)Global d) NGOs Social
Infrastructure | industries market Infrastructure
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